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summary()

cumsumy()

lag()

e
AR

2 ALO|2] X}O|

#

median()

guantile()

diff()

b1-ch1-3.R

x<-c(21,4,13,6,12,7,4,25,22)
y<-c(-2,4,-3,8,-7,8,-2,-6,5)

summary(x);summary(y)

cumsum(1:10);cumprod(1:10)




Ql=(arguments)
dfl, df2, ncp
min, max

df, ncp
mean, sd

binom() | size, prob
|%=(quantile) &, F1(x)

R g+
norm()

unif()

t0)

=
o

chi-squared | chisq()

binomial
Student’s t
HEA 7|




b1-ch1-4-rev.R

#2A8 B3=40% HZEHX=10% EA2Z0HAM ==

pnorm(60,mean=40,sd=10)

#5+2AE BR=40% EEFEI=10%2 FAEZ0HA
(EE3)

1=pnorm(2,0,1)

#P(Z<1.645)

pnorm(1.645, 0,1)

#P(Z<K)=0.952 [, K| gt2?
gnorm(0.95, 0,1)

#-SH 0| -3.271, n=16& [ p2l &t2?
pt(=3.271, 15)

#n=162 M, 5% FA+E0A I12A(HS)
at(p=0.05, df=15)

round(rnorm(n=20, mean=40, sd=10), digits=2)

ol
=

0| 60%=2CH &

+=2AE0! 60% 2L




bl1-ch1-4-rev.R

bl1-ch1-4-rev.R

#5218 Bd=40%, EX=10%2 EREZ0A =2E

pnorm(60,mean=40,sd=10)

library(tigerstats)
pnorm(60,m=40,5=10)
1-pnorm(60,m=40,s=10)
1-pnorm(2,0,1)
gnormGC(0.9772499,region="below",m=40,5=10,graph=T)

Normal Curve, mean =40, SD =10
Percentile = 97.725%

#P(Z<1.645)

pnorm(1.645, 0,1)
#P(Z<K)=0.95¢ M, KQ| Zt27?
anorm(0.95, 0,1)

library(tigerstats)
pnorm(1.645,0,1)
gqnorm(0.95,0,1)

gnormGC(0.95,region="below",m=0,s=1,graph=T)

Normal Curve, mean=0,SD=1
Percentile = 95%




bl1-ch1-4-rev.R
OlA D12 (HE)

OO|lA=
TT— T

#n=16L M, 5%
at(p=0.05, df=15)

library(tigerstats)
qt(0.05,df=15)

bl1-ch1-4-rev.R

ptGC(-1.753,region="below",df=15,graph=T)

t-curve, df = 15
Shaded Area = 0.05

gnorm(0.95, 0,1)
#Ft-SH S0l -3.271, n=16L M p2l gt2?

pt(-3.271, 15)
ptGC(-3.271,region="below",df=15,graph=T)

library(tigerstats)
pt(-3.271,15)

t-curve, df = 15
Shaded Area = 0.0026




b1-ch1-4-rev.R

pchisqg(11.07, df=5, lower.tail=F)

pchisqgGC(11.07, df=5, region="above", graph=T)

Chi-Square Curve, df= 5
Shaded Area = 0.05

T
11.07

chi_square_stafistic




bl1-ch1-4-rev.R

library(sjPlot)
dist_f(p=0.05, deg.f1 = 20, deg.f2 = 30)
dist_f(f=1.93, deg.f1 = 20, deg.f2 = 30)

F-value
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